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QUESTION 1

Which process capability can be started using an integration API?
A. Business Automation Workflow

B. Blueworks Live

C. Business Automation Studio

D. Workstream Services

Correct Answer: C

QUESTION 2

What is the preferred architectural design for building,managing, and deploying a business decision in the Cloud Pak for
Automation?

A. Consumable application specific business decisions

B. Rules embedded and deployed in process flow with process-based deployment

C. Separately stored business decisions with decoupled deployment

D. Application embedded business decision logic reliant on application deployment patterns

Correct Answer: D

QUESTION 3

What is the fundamental building block of a Digital Worker\\'s capabilities?
A. Skill

B. Bot

C. REST endpoint

D. Job

Correct Answer: A

QUESTION 4
Which statement is true concerning the REST integration ability provided by Business Automation Workflow?

A. Calling the REST service in a service task as part of a service flow is dynamic and does not need service discovery.
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B. Unlike SOAP web services, REST services do not have a "server" configuration entity.

C. Calling REST services through JavaScript can happen only after a corresponding external service has been defined
through service discovery.

D. When a REST service URL changes, service discovery happens automatically to replace the existing service.

Correct Answer: C

QUESTION 5

In OpenShift Container Platform, if a pod goes down, which componentcommunicates the failure to the master?
A. HAProxy

B. Kubelet

C. API Server

D. Service Proxy

Correct Answer: A
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